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| Question No. 1 is compulsory.
Attempt any four of the remaining seven.
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[, Write short notes on any nvo of the following : 74+ 7Ya
tay  Actual and Potenual GDP

(m1 . Foretgn Trade Multipher

‘b Speculative Demand tor Money.
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() Distinguish between GDP at Current Prices and GDP at Constant Prices. 7%

(hy  Lxplain the relationship between Investment Multiplier and Marginal Propensity to Consume

(MPC). T2
(F) 9] HHd | GDP den feom wwai ﬁ? GDP H 37<R FaIU |
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How is the National Income c;alcul.ated us'ing Expenditure Method ? .15
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oy I investment increases by Rs. 40 lakhs and income increases by Rs. 100 lakhs, what -

-

N

ts the value of MPC 7 7

(h)y It investment multiplier is 4. what is MPS 7 Derive the relationship between MPC and

i

MPS, : - TV
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Discuss equilibrium in a two-sector economy. How is savings function derived trom a con-

sumption function ? !
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Discuss the concept of Demand for Money. Explain, the factors affecting Demand for

Money. 15
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Define Budget Deticit of a Government. In an Fconomy where fixed taxes of T = 200 are

introduced with a fixed Govi expenditure of G = 150, what is the Budget Deficit 7 15
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Explain the process of Credit Creation by Commercial Banks. 15
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